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(1) BZRAFF i & F tst:
® Br0s+ HBr+ 60— 3Br: (¥+% ¢ ) + 3H:0
® HOOCCH:COOH + Br: (#¥#% ¢ ) — HOOCCHBrCOOH + Br (& ¢ )
+ i
® 3HOOCCH.COOH + 2Br0s + 2H'—2HOOCCHBrCOOH + 3C0: ( # i¢ ) +
4H-0
® Br0;+ 6Fe(phen)s” (:BR it > =4 ) + 6H—Br + 6Fe(phen):”
(F i*8% > F4 )+ 300
® HOOCCHBrCOOH + 4Fe(phen)s” (% i 4 » &4 ) + 2H0— Br+
4Fe(phen)s” (:BR i » 2= ¢ ) + BH'+ 2C0:(# ;¢ )+ COOH
(2) BZL g F &+ a4
AR R TUA S AR R TR -
B BLRTF T %
(1) fe8 A~B~C=Hidi:
A: 50mL 7 4k-k+3. Tdg 4-Fa 4 +2ml & e
B: 10mL 7Z4k-k+1.00g J4 i 4p
C: 10nL %4k +1. 00g 7 = ft
(2) #A~B~Cz=#:3:7% 2 20mL ~ ImL ~ 3. 3mL &* G418 B8 & %~
T00ML 47 ¥ » 2 BEIR £ 4 2 (RIS) 0 B i 4 5 Wk
T (RL-) LB ES(B+-) -
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® il d ML Br(h§ )t + o FHERRIRER N 0 F
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(3) #E4r 3D B E L > %A BT > HHEED T UA 6.5 -
(4) 4o r 0L G4BT > A AR RS 2 (ML) E (MLe)a s
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A" 1 50mL Z4g-k ~ 3. 2g NaBrOs ~ 2mL HoSO:

A : 50mL Z 4% -k ~ 2. 8g NaBrOs ~ 2mL HeSO:

A : 50mL Z 4% -k ~ 3. 2g NaBrOs ~ ImL HeSO:

A" 1 50mL ZE4-k ~ 3. 2g NaBrOs ~ 3mL H.SO:

B"  :b5mL Z4k-k ~ 0.45g NaBr
B

C

C

*

s

1 5mL F4k-k ~ 0.55g NaBr
; : 10mL Z4g-k ~ 0.9g CH.(COOH):
e . IOmL Ii\,‘@g;k ~ 1. lg CHZ(COOH>2

(6) r2 A'BC~A'BC~ABC~A"BC~AB'C~AB”C~ABC'2 ABC" % ~fh & >
EHREBLRTF B R IH2T4 -

() M ABC2 &  EAFHREBL AT F TP %A 2T 4> e s34
g * £:25 Il -

(8) M ABCz2 & » EAFHREBL R X BT %A 2T 4 w34
& * 2225 3l -
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(# - )ABC:

B #c [ Rid x| I Y

N ¢ g | FD
- 9.89 1.51
= 11.29 1.57
= 11.46 1.55
T 11.37 1.51
I 11.03 1.39
2 11.52 2. 15
= 11.52 1.44
A 11.40 1.59
1 10. 53 1.26
-+ 12.55 2.25

(£=)AB'C:

Bl | Hiwd ik |

NGE ¢ B (F) ()
- 11. 22 1.89
= 11.92 1. 22
= 11.92 1.61
z 11.91 1.52
Ed 12. 05 1.65
= 11.56 1.79
= 11. 86 2.15
> 12. 35 1.48
1 12. 26 1.56
-+ 12. 28 1.43

(%= )AB'C:

Rl [ Hicd ¥ | FIaY

NJF 4 yH) | FD
- 10. 91 2. 49
= 11.31 1. 72
= 11.33 1.52
P2 12. 38 0.55
7 11.99 1. 47
* 12.12 1.32
= 12. 04 1.40
~ 12. 22 1.93
1 11.69 1.35
+ 12. 30 1.68

(% = )ABC’:

Bl | Wid i | S

N EICOIEED
- 12. 06 2.94
= 13.07 1.73
= 12.71 1.75
b2 12, 64 1.75
7 12. 61 1,96
* 13.04 1.89
= 12. 70 1.53
~ 13.02 1.25
1 12. 82 1.85
-+ 12. 79 2.03




(%1 )ABC:

Bl | %ed i |Eday

R ¢ ($) ()
- 9.31 2. 26
= 10. 00 1.35
= 9.90 1.75
= 10. 16 1.53
Ed 9.83 1. 86
2 9.42 1.30
= 10. 43 1.30
N 10. 98 0.89
1 10.17 1.24
-+ 10. 46 1.42

(%= )HABC:

Bzl | S%ed i |Eday

NF ¢ 2 (§)) ()
- 13.31 0.98
= 7. 88 0.99
= 8.03 0.90
7 7.59 1.12
I 14. 37 1.18
2 15. 22 1.02
= 13.02 2.11
A 14.70 1.24
1 14. 09 1.15
+ 15. 28 1. 31

(%= A'BC:
Bl | Hied ik |y
N ¢ BF) | FD
- 11.22 1.81
= 11.53 1.22
= 11.25 1. 47
b2 11.93 1.11
7 11.65 1.35
* 11.98 1.52
= 12.01 1. 41
~ 12. 02 1.52
1 11.99 1.21
+ 12. 02 1.14
(# M)A+ 1oL 748 % .
Bl | %ied i | EI Y
R ¢ B H) (#)
- 23.99 1. 61
= 23. 217 1.31
= 24. 170 1.32
b2 24. 03 1.22
4 26. 97 1.28
* 26. 26 1.31
= 25. 25 1.48
~ 26. 27 1.11
1 26. 05 1.17
24. 91 1.19




(%4 DA% 3mL T 48 % -

(% +)HABC:

Bl | %edn |Eeup

N ¢ #(#)) ()
_ 60. 14 2.45
= 48. 173 2.27
B 45. 69 1.85
= 52. 14 2.00
7 46. 92 1. 46
2 57.21 2.10
- 48.73 2.22
~ 54. 14 2.02
4 42. 30 1. 86
N 56. 20 2.37

Bl | Wied ik | E Y

NG 4 IC /PN NE /D)
- 5. 38 2.04
= 5.24 1. 47
= 4.98 1.46
o 4.99 1.30
I 5. 35 1.19
* 5. 92 1.81
= 5. 35 1.14
~ 6. 81 1.26
1 5. 23 1.24
L+ 6. 42 1.54

(% -+ - A"BC:

BRIl | Hidx | oy

N yE |G
- 2. 74 0.81
= 2. 86 0.36
= 3.58 0. 54
b2 2.26 0.44
7 3.35 0.58
* 3.21 0. 61
= 3.25 0.38
~ 3.22 0. 66
1 3.12 0. 77
L 3.10 0. 65




2. @ % REN g
(1) d#8ed P a8 L RIEPFRIEF ST HRFL b
s P kP E BLRFF B L
(2) # log(GER) ¢ log(A [NaBr0s] /3% s)~ & 5 X 2 Y #h12 Eecel
FEUTFY AP E R T R ABRRA T TP T F s
BOBHAA T TS F b sdk) o
(3) NaBrOs i ¥ :

A -0. 56675 -1. 69092
A -0. 50876 -1. 55874
A -0. 44103 -1.43624

(%-+ =) log(NaBrOsik & )% log(/A [NaBr0s) /ix# s)

1A
0.6 0.5 0.4 0.3 0.2 0.1 )
N -1.45 |
n
- 1.5 -
NG
- -1.55 -
o
[
[aa)
L 1.6
— y=2.0197x - 0.541
g R2=0.9956 -1.65
o0
o
- 1.7
: 175 -
log(NaBrOsik & )

(B -+ 7 )log(NaBr0sk & )fr log(/\ [NaBr0:) /i¥# s) i* @
(B+ 7 )7 4FmaF 20197 > F 5 NaBrOsad# -

(4) NaBr &#c:t & -

B’ -1. 47855 -1.47886
B -1. 43279 -1. 43624
B” -1. 39140 -1. 49103

(# L+ w2 )log(NaBr ik B )% log(A [NaBrOs)] /ix# s)
9



] T T T T T 1-43
1.5 -1.38
1.44
)
n
= -1.45
&
~
- -1.46 -
o
[
[aa)]
= 147
| )
d -1.48
& y =-0.1209x - 1.6421
— 2
RZ=0.0335 129
L 1.5
log(NaBrik & )

(B -+ = )log(NaBr i & )4 log(/\ [NaBr0s:] /i s) it @

® d >+ Jog(NaBr ik & )fr log(A [NaBrO:] /i¥#p s)#7it2 B & 7
LB ORMLEFRELTEY > RS S I nP kS > kiE
Z_BE Aot 4wt NaBr 2o F a8k ? 5 - i H ) %0 ® &[NaBr])
=0. 03692M( ¥ PPz B ER P> 7 B 2 d 2 BB > 7 A
AR CERTERE LI LA AP ARWUBRTF R E R
NaBr k&R Flz e BB R » i F 2250 ¢ 2 a2 )RR

P3R4
l;’r’,ﬁ-:/_g- °

(5) CH2(COOH): 23t & -

C -0. 96423 -1.52239
C -0.91848 -1. 43624
C” -0. 87708 ~1. 40999

(% -+ 7 )1og(CH:(COOH)= ik & ) % log(A\ [NaBr0:) /ix#F s)
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1. 29
-0.98 -0.96 -0.94 -0.92 0.9 -0.88 -0.86
14
)
= -1.42
-
< 144 -
i
T 1,46 -
[4v]
=
= 148 -
d y=1.3001x - 0.2602
& R2=0.929 e
157 -
- 154
log(CH,(COOH),:% & )

(B -+ = )1log(CH:(COOH):2 & & )f= log(A [NaBr0s] /¥ # s) %
(B+ - )7 4% ma % 1.3001 > 5 CH:(COOH )z & #c o

(6)  HeSOs izt &

A -0. 57122 -2. 22020
A -0. 27863 -1. 43624
A -0. 11081 -0. 87879
(% -+ = )1og(H:S0ik B )% log(A [NaBr0:)] /ix# s)
-0.6 -0.5 0.4 -0.3 -0.2 0.1 )
f_f 0.5 -
5
- -1
()
4
<
= 1.5 -
d y = 2.8873x - 0.5872
g R?=0.9966 a2
2.5

(B ~)1og(H:S0i3k & )fr log(A [NaBr0s] /i # s) ()
(B+ ~)¥ BFmal % 2,8873 0 5 HeSO: s fic o
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(7) TFe(phen) st 5 :

A4r4c ~ ImL 48 %  -3.00518 -1. 82107
Adr4e » 2mL 48 & -2.72099 -1. 43624
A4r4e » 3mL 48 &  -2.56110 -0. 06734

(#+ = )log(Fe(phen)ik & )% log(A\ [NaBr0:] /:i¥# s)

0O
Ao

31 -3 2.9 2.8 2.7 2.6 25

)

2 0.5 -

e

&)

~

~ v =3.6471x +8.9667 3

= R2=0.792

[aa)

2

— 1.5 -

d —

= o=
25 -

log(Fe(phen)ik &)

(B 1 )log(Fe(phen)ik & )fr log(/\ [NaBr0:] /¥ #F s) %M@l
(Bl++4 )7 dFsmae % 3.6471 » 5 Fe(phen)x#k -

(8) b » v M F I A Y S 4T
I Nar03=K Naro3 [NaBrOd 200 [CHZ(COOH)Z] - [HzSO4] 8T [Fe(phen)] 5o

3. @F¥Fdkeanty
() &5 ¥ kR

[ NaBr0s) e B B iE (Cn) k

[A7]) 0.27118 2. 378x10"
[A']) 0. 30992 2.461x10"
[A) 0. 36221 2. 382x10"
[NaBr] kR B e (C)

[B" ] 0. 03322

[B] 0.03692

[B’] 0. 04061
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[ CH2(COOH):] JE B B iw (Co) k

[C ] 0.10858 2.240x10"
[C] 0.12065 2.382x10"
[C] 0.13271 2.236x10"
[ H=S0:]) kB B iw (Co) k

[A7) 0. 26840 2. 740x10"
[A] 0.52647 2.382x10"
[A7] 0. 77480 2.817x10"
[Fe(phen)] kB i (Co) k

[A4c ImL 48 % ) 9.881x10" 10. 68x10"
[A 4 2mL T 48 % ) 1.901x10° 2.405%10"
[A 4 3mL 3748 % ) 2. 747x10” 1.144%10"

(2) #k & & r i F BN RN 08 e K =2, 45X10"

(3) e v B FAFN G AT
I wmo=2. 45X 10" [NaBr0s] ***" [CH(COOH)=] “*" [H:50:] *** [Fe(phen)] **"
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(http://scigame. ntcu. edu. tw/chemistry/chemistry-013. html)
M= # B F Bedr i B2, > X p http://chem. kshs. kh. edu. tw/
Teaching%20resource/teachshare/chem960927/chem3l. pdf
HA2 Rk EF 6B F d 4 £ % http:/
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